Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI « EXAMINATION - SUMMER 2013

Subject Code: 362901 Date: 09/05/2013
Subject Name: Advance Knitting Technology
Time: 10:30 am TO 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2.

3.

4.
Q.1

Q.2

Q.3

Q.3
Q4

Q.4

Q.5

Q.5

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is considered to be Authentic.
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Explain with neat sketch the Loop formation by Latch needle in weft
knitting .
Explain the following terms related to knitting.
(a)Face loop stitch (b) Reverse loop stitch (c) Gauge of knitting m/c. (d)
Stitch density
Explain Knit, tuck and miss stitches in weft knitting.
Draw and explain Plain structure of weft knitting.
OR
Explain the characteristics and types of yarn used in knitting.
Explain about the yarn preparation for warp knitting.
Explain about the needle selection for weft knitting.
OR
Draw and explain the half cardigan and full cardigan structures.
Draw (1) Single pique and (2) punto-d-roma structures.
Explain about the use of Computer in designing and patterning.
Draw guide bar lapping movement for following warp knitted structures .
(1) Atlas and (2) Open and closed Pillar stitch.
OR
Draw guide bar lapping movement for following warp knitted structures
(1) Morquisette and (2) Tulle
Draw guide bar lapping movement for following warp knitted structures
with chain link preparation.
(1) Loop raised (2) Tricot
Explain about Knitted fabric defects.
Explain with neat sketch the guide bar shogging movement in warp
knitting.
OR
Compare warp knitting and weft knitting.
The details of a circular knitting m/c are as under:
(1) No. of feeders: 36 (2) m/c. RPM: 28 (3) Efficiency : 94%
(4) Cylinder dia.: 25 inches (5)Courses per inch: 42 (6) shrinkage: 36%
Calculate the production of the m/c. in square meter per shift of 10 hours.
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